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2000000(1. CLAUWSPY BLUUNRSLEN X - - 7,635.1 - 15,866.4 - - 23,097.7 - 30,775.3
(innn 2112000 +wnn 2113000)
win @dood’
2112000/ 2. MUSSNLULUL HUTUTSLAPLLER X - - 3,385.1 - 7,616.4 - - 11,847.7 - 16,925.3
n
2112100 Zfllj.}pqurwgﬁh wwppntiwljuwl ppuidwpbimphbibn' uynugus ¥ - e = - -
wut wibmnuainilibitinha
2112110|2.1.1. pupwghly wpnwpht wwownnbwljwl npudwgtinphubp’ 731100 - - - - - -
utnwaud w whinnsmlibitinha
2112120]2.1.2. Yuiwhww) wipnwpht wwpinnbwljwl npudwtinphubp’ 731200 - - - ® =
winwaduwd win wkiinnusmliitinha
2112200 | 2.2. Upipruphl wwippntuuljurt npuwduipbinphlibin' uipwgws X - - - . - " -
dhowaauuhti luadudibniuniamibiiiinha
2112210|2.2.1. pupwghly wpwnwpht wwawnnbwlwl pudwtinphutp' 732100 - - - - 5
utnwgyud dhowqquiht Yugdwlbpuympeniiubphg
2112220)2.2.2. Yuwhwnwy wpnwpht wwnntiwlwl ppudwstinphubp’ 732200 - - - -
uwnwgywéd dhowqquiht uquwlbpuynpnitbphg
2112300 (2.3 Lbppht wyuizipntiwljusl npusiwpinphbilin’ uynugifud X - 3,385.1 - 76164 - 11,847.7 16,925.3
Lol ity vy dudiinnioliinha
2112310{2.3.1. pupwghl Ubpphl wwownbwljwl pwdwgtnphubp’ 733100 - 3,3851 7.616.4 11,8477 - 16,925.3
utnwgywd Yunwwpdwl wy) dwlhwppwlubiphg, wn pynud’ ’
2112311)2.3.1.1. whwnwlw pymetihg, F - - 3,385.1 - 7,616.4 - 11,847.7 - 16,925.3
wun gulond’
2112312|2.3.1.1.10. whwnmpywt Ynndhg wuwndhpuljdwd dwiuubph X 3,385.1 - 7,616.4 - 11,8477 - 16,9253
thotuhunnmanil
211231312.3.1.2. hwdwjupubiph pinigbutiphg x - - -
2112320(2.3.2. uyhwwy Ubppht wiwanntiwljuwt gpudwtinphubp’ 733200 - - -
unwigywd wnwiwpdwt wy) dwlwpnuwlubphg,
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2112321]2.3.2.1. whwnwlwl pimgkihg X = = =
2112322]2.3.2.2 hwduwjuptbiph pimpbubiphg X - - =
2113000|3. USL tLUUNKSLEP X 4,250.0 - 8,250.0 11,250.0 13,850.0
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2113100]3.1. bhwdnuntibip utithwhwitineinuhg X 5 = = = -
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X
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1124100] - Vwubwghunwljwt dwnugmpnitibn 424100 105.0 105.0 105.0 105.0
1125000 | 2.5. Chpwghly unpngnud b upwhwubingd X 20.0 50.0 80.0 100.0
(Gwnuyniaimbbibp it tynplin)
1125100/ - Ghupbiph b Yunnygubiph ptpwghly unpngrd e wwhugutined 425100 - - -
1125200] - Utipbuwtiiph b uwppwynprudubph pupwghl tnpngmd b 425200 20.0 50.0 80.0 100.0
wiwhwwbinul
1126000 | 2.6. Lyniplip (wwypwhipblip) x 634.9 634.9 634.9 634.9
1126100} - Ypuwubbjwlught Unyetip b hwgniuwn 426100 506.4 506.4 506.4 506.4
1126200] - Yyninunntinbiuwljuit wwpwtiptibip 426200 = =
1126300] - dbpwuywinpuundwl b niungdwl Uniphip (wapuwsnnnubiph 426300 -
awnawaduiln)
1126400] - Spwtuwnpunuht ynipbin 426400 -
1126500] - Gpowlw dhpwwyph wwpunuwtingepu b ghnwljwt 426500 - - -
Tumimbin
1126600] - Unnngwiuwhwljwl U jwpnpusinnp bpmpekin 426600 = = - =
1126700] - Yhuqunuiht b hwtpuiht ubtinh Wmpbp 426700 499 499 49.9 49.9
1126800] - Cwwnml buywinwluiht wy Ungebip 426900 78.7 78.7 78.7 /8.7
1140000 | 4. UNhPUPTHULEP X - - - -
win pumy
1141000| - Unipuhnpuwitibip ng htiubivwljul ubiinwljut 451100 - - - -
LpenSwbibnnusmtlibnbl
1142000| - Unipuhnhwiibp $htuwbuwlut whinuwljut 451200 - - - -
Lupadwhbnwmenllibnhi
1143000| - Unipupnhwtibip ny wbinwljwt ng Shuwbuwljut 452100 - - - -
Lupadwbbnomomblibnhl
1144000| - Unipupnpwbip ng wybimwljwt phtwbuwlwt 452200 - - - -
Liadwbibnunminiitibnhl
1150000)5. WruvucunrLusr X - N _ N
uyn punul
1153000 | Cbpwghly npuduwztinphbbp whpwljub hugpdwéh wy x " = - =
durlpupnualbilinht
1153500] - Uy pupwghly npudustunphubp hudwitpubpht 463500 -
1153600( - Cupwghly npwdwgtinphubip whunwlw b hwdwupught ng 463700 - - - -
wnlunnunht luadubibnunminiiubnbl
115370] - Cupwghly npudwgtinphbip whinwlwt b hwdwtipught 463800 -
sunbinnuuhl bwohubbnwnianiiubnht
1153800{ - Uy n'urau.lqhh rmu.tdu.iyhnnhbhp 463900 = g -
TSP s oot gy Niaes oy o x " ~ » -
durlpwpnuljbil,
1154300} MMMM@M@EM 465300 z = S
1154400] - Ywwhwnw) npudwptinphubip whinwlut b hwdwpught ng 465500 -
wilunnuuhl lisadwbinunieiniibioht
1154500 |- Ywwhnwy npuwdwgtinphubp whnwlwt b hwdwupught 465600 - - -
1L
1154600]-Uy Yuwhunwy npuadwgtinphlbipn 465700 = - = -
1160000|6. UNSPULULUL LUUSLLP X - - - -
win punuf
1161000 | 6.1. Unghusulput hnynippub b i x - - - -
1161100 - Suwyhu Lnl.lmhumrajmbbbphh qnwdnq Ytuwipynn 471100 - - = -
1161200/ - Unghwjwljwl wupwhndmpwt pubnbt buywunubp 471200 - - -
hlummmnﬂmhn_du.lmnmnnhhnhh
1162000 | 6.2. Unghwjuljwb ogliniayut npusduwljul x - - - -
wpynwhupnippudp bupwugpbibp (pimiebhq)
1162100/ - Chjwitnnieyuit b hwpdwtinuidnipywl bwwuinubp pinigbhg 472100 -
1162200] - Uuypnipju bugwuntbp pinigkihg 472200 -
1162300| - Gpbhuwibiph Qud pinwibbljuwl buywunbbp pinigkihg 472300
1162400| - Snpdwgplyniejutl tuywunubip pmebkihg 472400
1162500| - Ybbuwpenwlh whgtbin hbin Guiwywd b wnwphpwh 472500 - -
Lwwuwnbibn pimigbha
1162600] - Cniquipyuidnpoequit Bupwuntbp pmgkihg 472600 -
1162700| - Yppuwiljwl, dwlnieught b uwynpuwiht buuwunutp 472700 -
pinietihg
1162800| - Phwlwpwwiht bwwuwnbibn pinigkihg 472800 -
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1162900] - Uy bupwiunlubp pympkhg 472900 - - - -
1170000|7. U3L DUhULP X 10.0 13.0 13.0 16.0

win pynd’
1171000 | 7.1. Uihpunpnyaynibibibip ns Gumwduipsusljub X - - - -
(hwuwmulwipwt) Yuqdwhbpuyniypinibbbphb
1171100/ - Suwhu ibinbuntpniubpht Swawynigniitibp dwnngnn’ 481100 - - -
swhnype shtinwuunnn Guglwlbpuympniiubphl
tulbnuunlniemiitibn
1171200] - Lyhpuwinynpgmutibp wy 2whnype shbiuwwtinnn 481900 - - -
Uwadwbbinwnueiniibinhli
1172000 | 7.2. Lwplybip, wpupepuppp Jéwpbibp b qpnydtp, npnbip x 10.0 10.0 10.0 10.0
hunudupdwl puwppbp duljuppulbbph §nndhg
1172100] - Uptuwinwywipdh $ntin 482100 - %
1172200] - Uy hwiplbp 482200 = - & =
1172300 - Mwpunwnhp Jbwplbp 482300 10.0 10.0 10.0 10.0
1172400/ - Mnwlwt hwenwdh nwppbip dwhwpnulubiph Yondhg 482400 E «
dhuiwlia Uhwindwdp Ubnwndnn wnnudtin
1173000 | 7.3. tunpuwpwbtibpp Ynndhg bpubuldwé pnydbp b x a “ . -
pmiqubipibp
1173100| - Hunwpwtiibiph Ynndhg bawitawlpwd wnydbp L 483100 - -
wnawbobltin
1174000 | 7.4. Pluulpul wnbipbibphg lpwe wyp plusljut X - - - -
wanpGunbipn wnwswgué oubbph Yud
J
174100] - Phuwlwt wnbinbtiphg wnwowgwd Juwuwsdplbiph Yuw 484100 - 9
diwutibnh dbnwbwbiolingd
1174200] - Uy pwljwt wusnGuntibipny unwgwd Juwuwsplbiph 484200 - -
dbnbiiainnd
1175000 |7.5. Ywnuuwpdwh Swpdptibbph gnpénibibnapub x - - - -
htypliwrtipng ipuigwd fbwubbph Yud Jrwududplbph
)
1175100| - Yusnujwipdwts dwpihtibph gnpéniutingsgwts hbnlwtpny 485100 - . =
wnwewgud Yuwudwdpubiph Gud Juwutbiph JEpwlwbgiingd
1176000 |7.6. Uy durfuuby X - 3.0 3.0 6.0
1176100/ - Uy dwfuubp 486100 3.0 3.0 6.0
1177000 |7.7. Mwhmuypuyht dhongbp x R = -
1177100 - Mwhniunught dhengubip 489100 - = = z
4000000(P. N2 HPLULUULUL ULSPYLER X 300.0 700.0 700.0 700.0
(winnn 1200000 + 1300000)
win udnuf
1200000|PLL N2 HhLULUUYUL U4SPYLErh SONY DUhULP X 300.0 700.0 700.0 700.0
wiyry pynuf
1210000 |1. <PULULUL UPRNSTEN X 300.0 700.0 700.0 700.0
nphq’
1211000| - Thupbiph U shumpimuubiph denppbipnud 511100 - - - -
1212000] - Ghupbph b shtinyanitiubiph Yunmgmd 511200 - =
1213000] - Ghuphiph L shtinyeymutibiph uwhuwg Jepwtinpngnud 511300 - -
1214000/ - Spwibiuwnpuiwhty uwppwynprwdubip 512100 - = - =
1215000/ - Ywpswljwit uwppwinprudtbip 512200 300.0 700.0 700.0 700.0
1216000| - Uy dhphkttbin b uwppwynpnuiubip 512900 - - = =
1217000] - Uskgynn wlnhdubip 513100 - - = C
1218100/ - Ny Wynipwlwt hhduwlwl dhengubip 513200 - - - -
1218200] - Sbnntighwlwt pwpnbiqugpuliul Swiuubp 513300 = 3
1218300|- Lwluwgdwhbwnwgnuwiljwt Swhuubp 513400 - - - -
1220000 | 2. MueUrLLr x “ & & -
npha’
1221000{ - Nugdwduwpuwljwl wwownptibpn 521100 - - =
1222000] - Limpbp b wwpwquiibp 522100 - = -
1223000/ - Ybpwwbwnph hwiwp bwiuwnbiudws wwpuwiplbp 523100 - -
1224000] - Uwywndwl bwywnwilyng wpwhynn wwowplbp 524100 - -
1230000 |3. pUrarurdte ULSkduer x - - a =

nnhg’
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1240000
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4. 2UrsSUWdUT U4ShdLEN
nnhg'

X

1241000

-£nn

541100

1242000

- Punbppunh wilywhdubp

1243000

542100

- Uy pwljuwi dwignud nitbignn wlmpdubp

543100

1244000

= M Wynupwiljwt swpunwnpdwd whumpdubp

544100

1300000

PR, N2 HPLULUULUL U4SPhULGrP PrUSNRUPS
unrsesr
nohg’

x

1311000

<huiuwljwl dhonqubiph hpwgnuihg dnunplip

1312000

Muwgwpitiph hpwgndhg dounplip

1313000

Pwpdpwipdtip wlpinhyubiph hpwgnudhg dnunpbip

1314000

Ny wpnwnpulpwl whmhdubph hpwgnudhg downplip

3000000

il CLAUUELE WU ULUL URNBLEPD H55h8hs
(CUMLLARPTY)

5000000

O S BN O P

2,230.0

2,908.5

3,153.8

(winn 1000000 - wnn 2000000)
IV. 165h8bSh SPLULULYNMUUL UIP3NRPLEND

3,153.8

3,153.8

3,153.8

3,153.8

5124000

2.4. Yuqdwlbpyniypuwh bpbph phtiwtivun]npdusbit
ninnynn qupbul dhonglib

5125000

3,153.8

3,153.8

3,153.8

3,153.8

2.5. Ywqdwlbpwyniajulr hwizdhg (wquip dhwgnpn)

yunpuufnat pimgh dinfuwtbigdnn dhongbibp,
wun adaul

5125100

2.5.1. whwnwlwu pinigh

5125200

2.5.2. hwdunupubiph pyigblibip

5126000

2.6. Curpfbipm dwdwtwlyuzpgubimd wqdwlbpynipuwb

huiph wqunp dponglibp

1,124.7

923.8

245.3
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